K-

| 5 | 3 | 2 1
375.00 mm [14,764 in]
Max label width (fits under handle edges) 'E'
= 157.50 i i ~ A-A
'c .50 mm [6,201 |n]==157.50 mm [6,201 in] pas
< !
it AA‘ P
o __E
S - > = E I
£ R EOR o RN AT S
3 A D imoomm g
= K L) 0 0D A 0 0 D o m e . =k
S A DO im o omm E 28
¢ = H%PH RO RO EOR %Pﬂ S o7 |3
| MR
o < = g
sl £ AR O D oot oo om o S|
e c ™ | g
S| E L) 0 00 A 0 ) Do b o a
2 IO I : e
& b= DI ¢ i : ] NOTE. e ie
[ A —'I \\] and painted RAL 9005 fine texture black.
Front panel is made from 3 mm aluminium with a
60.50 mm [2,382 in] clear etch & anodise finish. N _
] 436.00 mm [17,165 in] 129.10 mm [5,083 in] Handles are made from an aluminium extrusion &
—® I also painted RAL 9005 fine texture black.
= All parts are fitted with M4 studs for earth use.
241.30 mm [9,500 in] O
— — <
'c = o PARTS LIST
A ® ¢ ® & = %C ITEM QTY PART NUMBER DESCRIPTION
& « E 1 2 |M6203069 Vented Covers
c = « 2 1 M6201039 Rear Panel
S S — 3 2 M6202359 Side Panel
A ® . § 4 1 [M6219030 Front Panel
(e0)
~ 478.60 mm [18,843 in] S 5 2 M6200309 Handles
. - - "\ < : > 6 4 M4x16 CSK Screw (B) Front Panel Screws
= 7 12 |M3x8 CSK Screw (B)  |Cover Screws
2 ° * * @ 8 6 M3x8 Pan Screw (B) Rear Panel Screws
X ° o 9 2 M3x8 CSK Screw Front Panel Screws
= Rear Panel
e o o FIRST ANGLE PROJECTION
o Designed by Description Date Scale
2 < £ @ L Clark Combimet 3U x 19" x 365 mm Vented  |03/02/2022 1:4
N 428.35 16,864 i '“
mm [ in] ﬂglgﬁwsag gyeg&gtﬁgﬁigeham MmEeT (@Ml  www.metcase.com
b retained I confidence, not be reproduced or copl6d, and not bo used or nGorporated in any product, unless pormission i obtained in riing from OKW Enclosures Lid. ?j:nlai%r)el"uggﬁsggsisgg?ﬁ metcase@okw.couk  |M6219369 Isszu ) 1S|}eei
I 5 | 3 | 1

N




